Political Behavior – Final Examination

Answer the multiple choice in printed capital letters

1.   C                                         16.   D

2.   C                                         17.   D
3.   C                                         18.   C
4.   D                                         19.   A
5.   B                                         20.   D
6.   A                                         21.   D
7.   B                                         22.   B
8.   D                                         23.   D
9.    A                                        24.   C 

10.   C                                       25.   C
11.   B                                       26.   A

12.   B                                       27.   B
13.   D                                       28.   C
14.   D                                       29.   B
15.   B                                       30.   D
Final Examination – Political Behavior

For 2 points each:

1. In terms of explaining differences in political participation, what is the most important    

    component of socioeconomic status?  (Conway, p. 25)

    a. income                                             c. education  

    b. occupation                                       d. age

2. By education and income, whom do campaigns most increase turnout among?

    (Conway, p. 87)  

    a. low education, high income            c. high education, low income
    b. low education, low income             d. high education, high income

3. Why do rational choice theories have difficulty explaining turnout? (Conway, p. 142-

    143)

    a. voters lack the information             c. no one should turnout, but
        to be rational                                       some do
    b. everyone should turnout, but          d. none of these

        some do not

4. On economic and noneconomic issues, how do voters compare with nonvoters?

    Conway, p. 201)

    a. voters are more economically liberal and socially conservative than nonvoters

    b. voters are more economically liberal and socially liberal than nonvoters

    c. voters are more economically conservative and socially conservative than nonvoters

    d. voters are more economically conservative and socially liberal than nonvoters

5. Which of the following is most common among nonvoting forms of campaign 

    involvement?   (VSB, pp. 67-68)

    a. giving both time and                       c. giving only time

        money                                             d. about the same percentage gave only money

    b. giving only money                              as gave only time

6. In terms of turnout, how does the United States compare to the other nations

    we examined?

    a. lower in the U.S.                              c. virtually the same

    b. higher in the U.S.                             d. none of these 

7. In terms of campaign work, how does the United States compare to the other nations

    we examined?

    a. lower in the U.S.                              c. virtually the same

    b. higher in the U.S.                             d. none of these

8. Which of the following is true concerning the impact of socioeconomic status

     hereafter “SES”) on political participation in the United States?

     a. SES is unrelated to                       c. SES is less strongly related to non-voting 

         turnout                                              forms of participation than to voting

     b. SES is inversely                           d.  none of these
         related to turnout

9. How does the relationship between SES and political participation in the U.S.

    compare to the other nations we examined?

    a. stronger in the U.S.                       c. virtually the same in all the nations 

    b. stronger in the other nations             we examined

10. Which is the relationship between political participation and the priorities of

      community leaders after you remove the impact of SES? 

      a. it disappears                                c. it is still important            

      b. it still exists, but it isn’t              d. none of these

          very important                

11. How do the issue of interest of voters differ from those who undertake other

      forms of political participation (e.g., contacting officials, etc)? (VSB, p. 88)

      a. voters are more interested in        c. voters are more interested 

          human needs                                    in crime and drugs

      b. voters are more interested            d. none of these

          in taxes

12. Which of the following is true concerning the difference between political 

      and non-political participation in the United States? (VSB, p. 76)

      a. more political than non-               c. very similar levels of both political

          political participation                       and non-political participation 

      b. more non-political than                d. none of these               

          political participation

13. Why does Keech oppose a constitutional amendment to balance the budget?

       (Keech, p. 11)  

      a. he is a Keynesian and this                    c. it gives politicians the wrong

          would hinder Keynesian economics        incentives

      b. he is a rational expectations adherent  d. it does not change the incentives  

          and this would preclude applying it        of politicians
14. How does Keech view supply side economics? (Keech, p. 41)

      a. as a serious theoretical contender      c. as a theory more applicable to

      b. as a view that is favorable to                 Democratic than Republican 

          taxation                                                  administrations

                                                                     d. none of these

15. Why does Keech think the idea that taxes and spending be balanced was discarded?

      (Keech, p. 180)

      a. monetarism                                  c. rational expectations

      b. keynesian economics                  d. none of these

16. In comparing the distribution of income in the United States to the other nations

      we examined, which of the following is true?

      a. the wealthy seem to have                c. in the U.S. the  middle class has a noticeably

          a greater share of income in               greater share of the income

          the U.S.                                           d. the poor have a noticeably smaller share of 

      b. the distributions contain virtually       the income in the U.S.  

          the same degree of inequality

17. In both dollar and percentage terms, which of the following income groups gained

      the most over the past 20 years?

      a. poorest 20%                                    c. richest 20%

      b. middle  20%                                   d. richest 5%
18. How does the distribution of wealth compare to the distribution of income?

      a. the poor have a greater share          c. the rich have a greater share of the
          of the wealth than they do of              wealth than they do of income
          income                    

      b. the middle class has a greater         d. none of these

          share of the wealth than they

          do of income

19. How would the effectiveness of U.S. anti-poverty programs compare to the other

      nations we examined?

      a. less effective                                   c. more effective 

      b. roughly the same effectiveness      d. use to be more effective than most but 

                                                                      has recently become less effective than most

20. As you move from right to left across the three columns of macroeconomic priorities

      of political parties, how did the priorities change?

      a. unemployment became less              c. reducing inflation became more

          important                                               important

      b. priorities of importance to                d. none of these
          the poor became less

          important

21. How do political incentives impact on the incentives on the political parties to

      keep unemployment low?

      a  Republican administrations         c. Democratic administrations worry 

      .   fear the inflationary costs                about the inflationary costs of

          of high unemployment                     high unemployment

      b. Republican administrations         d. Democratic administrations worry because
          need to keep employers’                  Democratic voters are more likely to be
          happy by having low                       unemployed than Republican voters  

          unemployment

22. How do Greenberg and Skocpol view the Democratic Leadership Council?

      a. too liberal on economic          c. good on economic issues but too

          issues                                          liberal on noneconomic issues

      b. too conservative on                 d. good on economic issues but too

          economic issues                          conservative on noneconomic issues

23. Which of the following combinations of opinions is more typical of those of

       lower political sophistication than those of higher political sophistication? 

      (McCloskey and Zaller, p. 249)

      a. high in democratic values/high in capitalist values

      b. high in democratic values/low in capitalist values

      c. low in democratic values/high in capitalist values

      d. low in democratic values/low in capitalist values 

24. What is the impact of great affluence on America’s commitment to absolutist

      individualism?

      a. weakens it because we are wealthy enough to help the poor

      b. weakens it because there are too few poor people to press for government action

      c. strengthens it because there is less reason to change something that works 

          reasonably well

      d. strengthens it because we are wealthy enough to help the poor

25. Lane’s in-depth interviews with 15 working class men revealed which of the

      following attitudes toward income redistribution?

      a. the men favored a very large redistribution of the wealth toward the poor

      b. the men favored a moderate redistribution of the wealth toward the poor

      c. the men were relatively satisfied with the current distribution of wealth

      d. none of these

26. Compared to the other nations we examined, how much of a responsibility do

      Americans feel the government has toward reducing income inequality?

      a. less than in the other nations         c. more than in the other nations

      b. about the same as in the                d. none of these

          other nations

27. How do elite preferences for income inequality differ in the United States

      from either Japan or Sweden (the other nations we examine on this topic)?

      a. American elites prefer less             c. while the public attitudes on inequality

           inequality                                          differ among these three nations, elite

      b. American elites prefer greater           attitudes on inequality are quite similar

          inequality                                       d. none of these

28. According to the Greenberg and Skocpol book, how much change does Social

      Security need to remain sound? (pp. 85-86)

      a. large changes                          c. minor changes
      b. moderate changes                   d. moderate, but only if we privatize (otherwise

                                                              large changes)

29. According to the Greenberg and Skocpol book, what has been the primary premise of 

      American social policy?  (p. 111)

      a. individualism                               c. benefits as a matter of right

      b. benefits for either past or            d.  need  

          future service

30. According to the Greenberg and Skocpol book, which of the following groups would

      be the least likely to have a majority of its members become Democrats? (Starr 

      article)

      a. African-Americans                   c. the young

      b. the elderly                                d. white males
For 4 points each, define each of the following:

31. Time-Consistency Problem

       There can be an inconsistency between the best general plan and the best thing

        to do at any given time.  For example, not negotiating for terrorists might be

        discourage them being taken, but if they are taken, negotiating makes sense.

        (Keech, p. 38)

32. Keynesian economics

       Explained the Great Depression in terms of inadequate demand for goods and

       services, and it proposed a way for government to use its taxing and spending

       powers to stimulate demand.  Reducing taxes and increasing expenditures would

       both stimulate demand.  Could use a deficit to stimulate demand.

       (Keech pp. 26-27)

33. Marginal Substitution Rate

      The rate at which voters will accept higher unemployment in return for lower

       inflation

34. Rational Expectations

      Anticipated policies have no real impact, only “surprises” (the unexpected) matter.

      Economic agents will learn how to anticipate government economic policies.

35. Definition of Liberal (as defined in class)

     greater commitment to minimizing economic inequality

     and maintaining economic security/greater support for

     the noneconomic freedom to differ
36. Policy Mood (as discussed in class – don’t say “its the mood of the country” –

      I’m looking for a definition based on specifics) 

       Net Liberalism = Percent More/(Percent More + Percent Less) in 6 policy areas:

      Cities, Education, the Environment, Welfare, Heath and Race 

37. The “Zaller Reformulation” of public opinion  (i.e., what the “new synthesis”

       says about how people are answering survey questions)

               1. People Do Not Have Predetermined “True” (crystallized) Attitudes on

                   Many, If Any, Survey Questions.  (Thus, Agreeing with Converse)                        

               2. However, People Do Have Predispositions (Values, Interests, and 

                   Ideological Views) that Have Important Implications for the Issues

                   Treated in Political Surveys. (Thus, Agreeing with Inglehart)

               3. Public Opinion, as Reported in Polls, in the Aggregate, is Generally 

                   Stable and Responds Sensibly to New Information – to the Extent

                   That Such Information is Received. (Thus, Agreeing with Page and 

                   Shapiro) (Glynn, et. al., p. 288)

38. Free-Rider Problem  (Conway, p. 151)

      Receiving benefits without making a contribution 

39. Absolutist Individualism

       Making the individual as self-reliant as is practically possible

For 4 points each, explain each of the following:

40. What constitutes “fairness” according to the current worker-contributor model of 

      Social Security?   (Greenberg and Skocpol, pp. 91-92)

      We don’t know what the future will bring, so we insure all against catastrophe

      and provide more to those who contributed more.

41. Why does privatizing Social Security not avoid government “meddling”?  

      (Greenberg and Skocpol, p. 90)

      Government would force you to contribute and the government regulates

      the securities industry.

42.  What is the potential weakness in nominating candidates by caucus or convention?

       (the answer isn’t that the “people would not be permitted to choose their

        candidates) 

       Nominating extremist candidates as the party is taken over by a organized and 

       determined minority. (Greenberg and Skocpol, p. 170)

43. Who constitutes the “missing middle? (“the middle class” isn’t the correct answer)

      (Greenberg and Skocpol, p. 115)

    The relative absence of protections for working-age adults and their children.

44. The significance of the symbolic conservative/operationally liberal public opinion

       Voters who classify themselves as conservatives often support increased

       government spending in many areas of public policy.  This is why the

       Democratic party does as well as it does.

45. Nonattitudes

      Many people do not have stable preferences, they respond differently when asked

      the same questions over time.         

